C:# Matching Graphs Name:

Determine which graph (A, B or C) best representstheinformation in the table. Answers
1) | FavoriteColor | blue green | orange | yellow | red
1.
People 1,000 | 5000 | 7,000 | 6,000 | 3,000
A B C ’
10,000 10,000 10,000 '
8,000 8,000 8,000
6,000 6,000 6,000 3.
4,000 4,000 4,000
2,000| _ ﬂ 2,000 = 20001 | __ .
Y %% &/% ° %9* I
6 Y, %, Q) Qs) 0@ % ® %’%9@ a,
2) Sales Jan Feb | Mar | Apr | May
Month | 2,000 | 2,500 | 4,500 | 4,000 | 500
B C
5,000 5,000 5,000
4,000 4,000 4,000
3,000 3,000 3,000
2,000 2,000 2,000
1,000 ’_‘ 1,000 ﬂ 1,000 ’_‘
A %n% U 5%hnh %N
CR % ¥ 9 9 % ¥ 9 9
3) Name Faye | Greg | Hannah | Jane | Kelly
StatesLived In 3 7 2 5 10
A B C
10 10 10
8 8 8
6 6 6
2 2 2
AN 2@l 2 ml 1]
S O 1 S G % 1 S G % qp
4 | Name | Adam | Bill Cody | Dan | Ed
Points 25 45 15 35 | 30
A B C
50 o0 50
40 40 40
30 30 30
20 20 20
10 |_| 10 |_| 10 |—||_|
0 0
'S’ OO@ 9.8, O O, & 9., QO O, &
o%@) tod 0%/// %P g o;%/// % g

1-4 |75(50(25| 0
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C:# Matching Graphs Name:

Answer Key

Determine which graph (A, B or C) best representstheinformation in the table. Answers
1) | FavoriteColor | blue green | orange | yellow | red A
1.
People 1,000 | 5,000 | 7,000 | 6,000 | 3,000
A B C 2 A
10,000 10,000 10,000
8,000 8,000 8,000
6,000 6,000 6,000 3 A
4,000 4,000 4,000
2,000| _ ﬂ 2,000 = 20001 | __ . B
R % i %@ RIS
© % % ° Q% 9@ O@ &% %9@ %
2) | sales | Jan | Feb | Mar Apr | May
Month | 2,000 | 2,500 | 4,500 | 4,000 | 500
B C
5,000 5,000 5,000
4,000 4,000 4,000
3,000 3,000 3,000
2,000 2,000 2,000
1,000 ’_‘ 1,000 ’_‘ 1,000 ’_‘
A %n% U 5%hnh %N
> Y % % %% % % % %% %
3) Name Faye | Greg | Hannah | Jane | Kelly
StatesLived In 3 7 2 5 10
A B C
10 10 10
8 8 8
6 6 6
2 2 2
AN 2@l 2 ml 1]
S G 1 S G % 1 S G % 1
P %o\é’@ % %% %oj@ % % ® %oz@ %
4 | Name | Adam | Bill Cody | Dan | Ed
Points | 25 45 15 35 |30
A B C
50 o0 50
40 40 40
30 30 30
20 20 20
10 ﬂ 10 |_| 10 |_||_|
0 0
'S’ C‘Oé\ 9.8, O O, & 9., 8, O O, &
o%@) tod o%/// o%c% g o;%/// o%c») g
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1-4 |75]50|25]| 0



